LLikona = |OT,u,./Kopn :l leHb
Mpnem nuwm Pasgen Ne peu. bntogo Bbixog, r LleHa KanopunHocTtb benkn Kupbl Yrnesoapl
3aneKaHKa 13 TBopora ¢
3aBTpak rop.6nwoao 223(4) nosuAa0M 160 53,63 391 23 8 38
rop.HanuToK 376(4) Yait c caxapom 200 61 0 0 15
xne6 TTK 2.1 BaTOH NEKTMHOBBbI 20 54,0 1,6 0,1 10,6
3aBTpak 2 bpyKT
Obep, canat TTK 3.9 OrypeL, cBexui 60 80,00 9 1 0 2
Cyn KapTo®enbHbIN C MACHbIMU
1 6n0a0 TTK Ne4.16 |dpuKagenbkamu 220 93 2 2 14
2 6atogo TTK 5.45 Msaco TyweHoe 120 269 42 8 4
rapHup 378(1) Kawa rpeyHeBad paccbinyaTtas 150 241 9 6 39
HanNUTOK TTK 7.10 |KomnoT 13 ¢ppyKTOB U Aroa c/m 200 134 0 0 33
xneb 6en. TTK 2.23 | Xneb nweHnYHbIM 30 71 2 1 15
xneb yepH. TTK 2.24  |Xneb prkaHO-NLEHNYHbIN 40 79 3 1 16




